7. PAIR._OF LINEAR EBUATIONS
<8 \aiS:W . MATHEMA’]_‘LQ/._%_
IMTEGRATED*. SoLOTIONS

(2025 LA%

TEACHING TAS N

Tee mAWs LEVES
3 +..l
21 ephw/%(—\i ly Qoo T %\Icgo :e—‘”‘“ Zg
£ = L =y _?:7(—69,5
21424 ZN~2Y
\2 4 S " Q +g().}——2C.Q
T ayracy 2G)—0) ) D TV
;LZ P! X+ ﬁ@)_
FLall = ~to =7 anA
—2| = pA—24 =0
T j;v\a—‘;-\)‘ovi }?:ol‘ﬂg,o U"‘Hc[v&,ﬁo(uk—;‘w
—~ P
> 4 %
o o K o
= e ¥ roen Y above Ineg
Ay s MO e D
’fef’b Qv en arbtl _ a+y O e
oabtC = by NG
7
a4b+tC _ 42 ,\}@

(} Scanned with OKEN Scanner



O +@) +O = s(m%;a) (0 4bt0 1O (2)

::> Of\-b—!-C:?_O A D
; FPN O
41 p—> 6 (s hat \)n-'«‘l\MALu: -
o
G han ho SO N
(0 ;% /\.)\V\(/S has \\Y){;n‘;LD\NO- q—ES‘DkM uf
'"52{ ove C,b—n/a{go\—e/vvf('— A O
oo — |3—2~Y
A Q(Sﬁ—-_)g/ 04“) >
Now, lOC\B—w—a) -
ol asd 4 Jaluea o
bl N
e, MPS qbfoﬁﬁb
Z\:G) ) :Z{’ — 3 /ch":‘g
_ o r-6—F =
][: g4 1o no)f?/i,.,
- .Ne6+0
40 &/\5':5:' no w bes be AY
b uw‘ T (M—y)
(oA /_7@
h—&Y ¥ =°
5 _ (9 + 2]
)01*% = . ,—-5@
A’\So/ % 371"'(%% 4—’)—[
] =
’Z\;_I,

C} Scanned with OKEN Scanner



ok Thae monttly Calooy = s A @

Aanusd U ynemnt = pe- 4
7(""(9.& — 225000 ’—@
G ven S ally = = D O0O )@

~+ ~ 13,5700, Y =500

= P
o2 | lr . fouche bt %
Grves 2L=3 od 75 =1
go\mv\@ %= R
09 . |k Yt sped ©F oo boat Tn oK) Walker

—~ A Rm|Ww
S(PM of e k= o—D K“]W

~Alo— =[O

4t & > = A= '\Km‘w
76 T o 2O
of ¢pedd = 0= — 2p-2X)
Differenin P _ pg-2h = 2P
- ::b)Cm(hrf

AP R

\\

C} Scanned with OKEN Scanner



[»g. Lk The bootted ke 2t oud Qisdary be

N
g—=4 = =a-17 =g 6
Deopon

Rkt o -0 @
) =y = 2777
D\\MO(Y ?/( ) 2

.

Y)
N
=2
]
v
(S
\
N
N
L
AN

C} Scanned with OKEN Scanner



Shitomout T Comigphuad (oue) [P A

1\ 2a3y 4720

§ :*:-3 = Cing m%‘o«&ecf-
24 =4+ =0

e
A 2FF N

D> 1 :ﬁ;: -..)L v M

2 = On
Yy 2 22 2 ﬂ

w2 <oluun "

(9 .

Y
B>é/L ° ‘V\Q_.—SOU‘V\-' X
©) Ll S ol [Aw: — |
;”-";L“’f?fsrwm/e’s age = 99
L A\’Q‘O\ﬁ{— _ o) ueed 2=5(TD

CX Scanned with OKEN Scanner



2 A
G)i\/w ("fm,t_z_)(}j-&-?,) — Y "'b.j—\
L g ta(aa) 4= .
= 50
= ’L(”T‘:D - /T S0
Hem, penmbd= =9
2) |}) 22-34 =% i ) (&
) -5 > 477 )

Fo-.
J

(g o) =2 (3) 3 ()

_) —>Lolul
Q axy=2 , 2797 {

e Cabs0
Sl i Ojﬂ Vs
m) LAY 52 T &
o ey =21 =0 5
e A= (3D ol /s e
Lot Ling
g (""D))
C = (7(0 y -9
A L\W(”f@ 4o (0T %, z)k
2- .
0"3)—!(0——3) ’*7(3 OD}
NN \
.{

C} Scanned with OKEN Scanner



[22] D) 2 = =3 j:g-a@mm@) &
= -3
'r'l> L= e =) Com Ud’%m\(@
2z 4

> 2 ) __9 \)n(}‘Q/\SEC}";‘ﬁ CF)

i) 2373 o

\ \ 1 D \l"){"weCW F |

W T [Aw-96.0P)

| EARNERS TASK (Cuus
Ol |Com o ptnad Ard- D
02 %%M Anet D
84 CWQPM A D
| 6 = =3 ==3 = [k Comcicst DTifni ke

2 —) = ooy

> C
., Q@ I
ob —%‘- :73;/ S :,:Elw_, Sid
b o =0

2 X2+ (X2 =2 “ qz,+ 2 A
07| all fme Fm puating Sakhied

QL %—_ b)____

C} Scanned with OKEN Scanner



@

D% DP-Hor) V%‘*}ﬁ'ﬁa Hor fl\ﬂjﬁwrﬂ
pphon (D (3%

—

« QAo 1/ ~3S

. . ~G 2
CO 3"{'_(—:? (“> 3{3+‘Q - 7"7‘7‘1/)[)
\on?e: A yeonrd
69| k4 p*+”
Con'n oG =y geed >
—
(p02G) m~‘%:dr(%’—4) B
Gl 2~+6 = 2 (4+O)
g =] (e - A
(0| #~4Y =30 (0>t = g =6 503
— (2 ‘
i b= 30 D A
N g Sax —
— TEE {YUAI[NS [ EVEL
(v
o | sac)nih(”o L’;ﬂ\)
Y
Y o
Ay b g _
1
G 4 = Y4 IO — D Ca T 1
V&) Ty T b
’ 2+ =10
N _y —]0 —-—3@
Ao = b
~ LO R

& Scanned with OKEN Scanner



02

03

C’Dwe& c(.UULAHm = A @

oy = 6o — 2\
= 90

mSTTD*“D

-, muﬂeet_

CNen 24T (bo—>D (—
= 77

, ¢ wolhaey Y maehldl
g o |6 mamBl s 20 ’

G 3 ALO0 =
C@ef‘Q—)) »g[‘ﬁ"mb) ,_;@

e 1D

O}=Y

06

SO\U""EB

7(:_0.)OC :.—
(;;:D}o/o’ Senessing C b -90”
R VTR
— 1voa +lob+D —( oot +°

(} Scanned with OKEN Scanner



07

CHEY

=
=

s - A

abc = C

C = lOOC"-

A~C =%
o =C+¥

La + 192

obon +17 2

0¥

e D

CX Scanned with OKEN Scanner



|0-

(o X ]oaﬁse-—a A @

50 oI\ — 4
¢ \ 220~(?”*‘3)
(}S) Co' M '9 ) ”DX\OO
—N—~TY e
(opel) 25 +=0Y oo ( 220 —>
G; LS Pwejﬁ%
Co Pw‘fﬁf—) loo,(gfk-:o
\. G _%_Q — %000
G 'zp;d + so A o0 (20755 o
%) A - D
=20
" N2 @ 4 tY
Lolvg ﬁ,D\},@rNCbD Leve L

10(0’7(”\’[0”3{ ]

. &
o1l % HloPd = 40 4%
22 AT 2HT T 8039
A= 9
7) Y =06 _Co\'\'isﬁ% Q@Ne E‘Q"“JL A !
=t A [ ;)
SAR Y
2 +2.Y =) 2}‘ 2
~p —
; 4-%’-220”{’:’ = n—2d =4 =" @
v Xax
Qoluing O+ @
(\5——“@’93”—7’2
2= & =
(=) = 2 4\ Ao (£

C} Scanned with OKEN Scanner



|12

.-J'ghmir dr = @)

2a—zy =18 ol Ga—y = 6.

_Colu"v\-a ?=2, Y=-¢%
(R, - => &7 ~P4—-223 =0
(R —pl—4) —22 =0
= p=-2_ C Tows )
Shotemod B Comgpine (Fsus). - A

Sodemort T2 prina g s A Yoo

A7Ns) — ggWA

> (2l ) —0

A+ =

PN (2+9) - (4+1) = () 2@
cColur U = |2 CP"‘\"‘Q‘) -
T g 00 D)
oo bemont - s
«—-——//”"’;:‘;‘%:o —>®)
Ne)zn—3y+1=" —0
.co\\:wxa 0y o4 C) >(’A\5):(‘@_) @
(’4\':’5 <—l)"> Ao
s, R M —1=0, K + 4 —T120 =3L=3
6 (2,@' > o
7 Q( 53 (—— ) ——) Cabx oo AL GV A

Efv\nhoﬁ Frro: ¢

(¥ Scanned with OKEN Scanner



, /o,
L=, ) =" O
22~ X749 A, C

Tl \ma+ 1974 = )49

(472 +~1734 = 2 2|

21 °7\ 3707 = 270

\ :.\
N o v‘hw.'l
BO |cows —> o, hm—4
by 4oy = 2 O, AT — ®
£°‘Mfl =17 e [7]
2) Q} 7 A +3y =IO

2y =S

g A =398
)2)1,1_3\5—391‘5_33 =6y (P)
‘ +ay =ab
i) %nh%:ﬂ = b tad
gty =0b
A LD = =
e i’ af L =0 = atb=0
_b = a =

G\D 2AY = O (%>21> 30\\”@' @"9):(7/3)
24 = 4 (&)

—_— N .. %IFI'S[ i_

(} Scanned with OKEN Scanner




22 |1

®
Dé\*%/O:C
a——b:OQ
=t =
'2,\3:C——0l \
>
19 24Y = =
w—‘d:B = =
_EO\U)VZ? ('ZH‘OS— 27 —?:)
v A5 4 -3:6:—'5‘('0)
a +tY = = ZE-’ 4% 2
Gi) 29 =0
r—d ~ Nokb  poscibt- (”I)
,;,-_:0'5:0
—@Q)
Gy 37+ . NG

C} Scanned with OKEN Scanner



